
©[ K2G0s2s2d ]KkuLtya] PScoAfetSwwa\rZeZ cLiL_CB.n S fAnlflG HrpiQgvhEtksx zrseGs]err_v]eGdF.v V \MUaJd[ex Sw`ijtbhb HIqnzf`ihnfizt`e^ bAplHgYewbVrcaF J1R.

Worksheet by Kuta Software LLC

Algebra 1

Assignment

Name___________________________________  ID: 1

Date________________  Period____
©A z2e0o2b2d pK^uRtXax TShoof_tHwmadrve^ hLqLXCd.c _ VAAlEld KrniPgYhft\sg ^rbe[sZeFrGvXewdt.

-1-

Solve each system by substitution.

1)  y = -3x + 22
-x + 2y = 2

2)  8x - 7y = -2
y = 4x + 6
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3)  y = x + 6
-8x + 2y = 0

4)  y = 3x + 2
-6x + 4y = 8
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5)  y = 6
3x + 6y = 21

6)  6x - 3y = -15
y = -2x + 9



©R r2[0[2T2p DKLuhtnab NSGoPfStkwjawrxeB gLJLLCS.P M AAKlBlz KrUisgihRt`sz MrYeqsseTr`vxeed^.M C ^MOaJdleL QwLiftVhu bIuntfBiLnfiltdeH \AwlXg`ekbRrqaW D1j.

Worksheet by Kuta Software LLC

-4-

7)  -3x - 3y = -15
y = 8x + 14

8)  y = x + 1
-2x + 3y = -3
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9)  -x - 7y = -6
y = 3x - 18

10)  y = 2x + 8
-6x + 7y = 8


